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Perhaps it is a decree of the verse — N7 230577 N K97

OVERVIEW

The Xn»72 states; a person who is in the city and says ‘I know my workers
forgot a bundle but it should not be 7r>w’ (because the owner did not forget
it), one may think that it is not 715w (since the owner remembered), however
we derive from the pwd of 77w2 "MWy nnown that it is 7mow. The Xn)
explained this 7%, that when the owner is in the field then we require that
it should be nrdow (the owner should forget; 17P°v7» M>OW) in order that it be
nnow; however when the owner is in the city, even maw 710271 M2, is AW,
proving that by 7w 782 7 the 77w 1s 7217 for him. The X3 challenged
this interpretation (of the Xn>12 and the ?0d) asking, 'R°7 2127 N1 RA?T.
Our nBoIN cites s™"wA interpretation, rejects it, and offers his own.

— 1Ny NNY 9195 DN 7YY U
"w4 explained the question of the X713, that X177 5"7713 X177, and the text of
the Xn>72 should read ‘I may have thought that it should be rmmow”’.

mooIN rejects *"wID:
— 2R595920 191 IINI NNOY NIV 95 119

And it is astounding! Can we assume that the X713 changes the reading of
the Xn%>92 because the X713 wants to refute the initial proof!

mooIn asks an additional question on *"w7s:
— YN NNOY MY NINN NN I

And furthermore; how does the X712 answer the question that perhaps it is
a 2" that there is no v NROW; the XM) answers it by saying that the 109

of 7" includes the oW (when the owner is) in the city, and therefore we
cannot say that there is a 2"7°1a that there is no 7n2¥ in the city; but according to >"w19

this is not a sufficient answer for -
— ANAY "N RY MDY 103D 91917 9D XN»I92a XYM

Cannot we say that in the Xn»22 we derive that mow 539291 7927 is not

" The xn™12 asks (according to this X073 of *"wA), I may have thought that since the workers forgot (even
though the owner remembers) it should be 7n2w. The p109 of 77w WY Nnown teaches us that AMOw is only
when the owner is 71702, however if the owner is 7°¥2 there is no 712w (even if the workers forgot). Even
though there is no logic to this ruling, nevertheless it is a 3"7°13 that when the owner is 7°va there is no
anow. According to this interpretation we cannot derive anything from this ¥n°*12 regarding 177w 7¥2 T21¥.

* We may sometimes edit a X712 or a 73wn when it is inconsistent; however to change the text because one
is not satisfied with the implication, seems to be out of order.
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7o (for we derive this from the P05 of 77w2 v Now); we know that the Xn»92 is

discussing specifically a case of maw 710271 27 -
—IMNIY DYDY 1IN YTV 2INPT

For the Xn» 92 states that the owner said, ‘I know the workers forgot it;

indicating that the owner remembered; a case of MOW 710271 7127 -
— NIYPOYN NHYA Ty 999N HNOY MY WITT XOMY

And here where we interpret the P10 of 7°7° to include =°»77 now, we

will establish it for a case of Xy MW, There is no contradiction between the
two mwn1.> We have not answered the original question of the X»3 that X7 3"I3 K97
that 7°¥2 MW 70321 7137 is not anow.*

mooIn offers his interpretation:
— N30 DY 1 NYUP XN NON IR 9D 1RV 9297 W 795

Therefore one can say that the X721 is not refuting the proof that 7%2 72

177 1s AP, but rather the 89723 (merely) has a difficulty with the xn>s2 -
— *NYPT NPT IY RO YITAY 1799 N

How does the Xin of the Xn>72 know to interpret the exclusion (of nrow

T°¥2 891 77w2 W) and apply it for the inference of the P05 -
— ANAY "N RY MDY 102D 9191 HAN NIPIYN NIV 13977 HNIYY NTWa VINTT

For the Xn»M1 interprets that nrowy 77wW3 means XIPSY» MW is AW

77w3, but maw nI0a» M1 (which is the inference of the p109) is not fnaw -
— ANV %D MY 1029 9191 1999N P¥AT 9119 NI INP NT Y

and on this inference we apply the exclusion to teach us that in the city

even MW mBaY M7 is also mMEw. This is how the Xn*™2 interprets the 105, The

X3 is asking -
— 9592 XYY NIPIYN MY NNIY NN NTWAT NN 2ININ NI NndT

Perhaps there is a 5'';1°13 that when the owner is in the field then the mow

Napsyn is ow but not when the owner is in the city; then even X vn mow is
not 1now (and certainly not 5w 710291 7157), for this is the 2"7°m.

mooIn responds to the anticipated difficulty:6
—95¥a XD NNOYIY NTYWA RIPT NN VI INPINY Y9V NYANDN Y9

> We derive from 77w2 9my nrow that there is no amdw by 7°¥2 Maw 7037 M7 (as the ®n»12 states), and
the P09 of 717 teaches that 7°v2 XIpP°Yn MW is AAOW.

* See “Thinking it over’.

> The 109 of 71 7w2 MY nrow teaches us primarily that there is 7naw (if it was X7p°yn mM2ow); the inference of
the P09 is that if it was not XIp°¥»n Maw but mDW 710291 21, there is no 12w, and then there is the VW of
77w which teaches that the law mentioned (previously) does not apply to 7°¥. See footnote # 7.

® The apparent difficulty with 19910 explanation is why we should interpret the 7109 in a manner of a "1
which has no rationale, when we can interpret it the way the Xn>72 does which is more logical.
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And it is more logical to establish the vy¥» on the actual po2 of 7w
nrown and not in the city, than to apply it on the inference of MW M0271 7131 where
it 1s not AMOwW. The P05 is discussing where there is 7moWw (and not where there is no
anow). The 1 should be on the Pos!”

INIPT DPOWON SN 8 NY 13 99 S9N NNaY MaTY 959Y 5w XNWN)
And now (if we follow MmN interpretation) the answer is properly
understood, that 7°7° includes 2w nrow, so therefore the v n of [7wa

nnow cannot refer to the simple aspect of the 705 (which would mean that there
is no AMdW in the city), but it must refer to the X7p7 X177, and that there is 719W in the city
(even by mdw 710271 71I7).

SUMMARY

According to >"wA the question X°77 3"77°1x 8177 is that we should change the
X073 of the Xn>72 and therefore not be able to prove that 177w 7X2 MW is
1 p. However n901n rejects changing the X07°2 and explains that the X3 is
merely trying to comprehend why the Xn>92 could not have interpreted the
P08 differently [and then there would be no proof].

THINKING IT OVER

Mmoo asks on *"w1 (regarding the answer that 7°7 includes v nrdow), that
we can still say that nnowy 77w2 excludes °v2 Maw 710271 707 (that it is not
mow) and 777 includes 7°v2a XY MOW (that it 1s rm:tz;).9 However it would
then turn out that 7°v and 77% have the identical rule (XRpP°¥n M2OW is AnOW
and MW 710291 M7 is not anow). Why would we need any 2°p109 at all?
The 770 should not write the v » and the 127!

7 To repeat: The p100 of 77wa ™y NRaw" teaches us primarily that there is oW (if it was X791 mOW); the
inference of the 109 is that if it was not X1p°¥n m1OW but Maw 710271 37, there is no 75w, and then there is
the mw'n of 77w which teaches that the law mentioned (previously) does not apply to 7°v. It would
seemingly be more logical to assume that this ©v1¥°»n is regarding that which says explicitly in the P09
(namely that 1P ¥ MW is An2W), and that 1P°vn MIW Y12 is not AW (as a 3"i°13), rather than to say that
the exclusion of 77wa refers to the P17 of the P09 (namely that 77w 177 X7 MO 710371 MA1), and that 1°y2
the law will be that 7w "7 MW 710291 NAT.

¥ It would be totally illogical to say that 77 includes T°¥a maw M2 M7 that it is AMOw and NR2WY 77w3
excludes 7°y2 X7p°yn MOW that it is not 7mdOWw. This is inherently self-contradictory (according to N201N).

? See footnote # 4.

1 See (however) 2" who explains that according to *"w1 by 77w maw 702 27 it would be 7maw. The
3"mn (according to >"wn) would reverse the logic; by anow i X% mMow 710271 M1 7°Y and by 77w it would be
7w (and the 3"7°13 would not merely teach us that by 7% also 3w i X2 MW 710271 90,
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